1), Implemented GEM analysis part into PRadEventViewer
Frame.

2), Compare between cooked data and Raw Data,
mutually agree.

3), (Beam) Offsets from a series of Runs, 1.1 GeV, 2.2 GeV.



RUN #1371

Beam energy: 2.2 GeV
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RUN #1371

Beam energy: 2.2 GeV

XOffset
e hx
4500 — Entries 583718
= Mean 2.35
4000 = RMS 2.583
= x2 / ndf 238.5/122
3500~ Constant 4279 +9.3
E Mean 2.393 £ 0.005
3000~ Sigma 1.999 + 0.007
2500 |
2000 f—
1500 f—
1000 —
500 —
0 _I 1 1 1 J 1 I S | J Ll ) L LJ Ll 1
=20 -15 -10 0 5 10 15 20

Xorser [Mm]

HyCal Offset

Yorrser [Mm]

Y Offset
i hy
= Entries 583718
= Mean 0.9827
- RMS 2.506
- 2 / ndf 201.4 /147
- Constant 4328 + 8.7
= Mean 0.9633 + 0.0040
= Sigma 2.038 + 0.005
o bt ) e PP A 1T R A
0 -15 -10 -5 0 5 10 15 20




RUN #1371

Beam energy: 2.2 GeV
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RUN #1240
Beam energy: 1.1 GeV
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RUN #1304

Beam energy: 1.1 GeV
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RUN #1394 a—
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Beam Offsets
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GEM Offsets
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HyCal Offsets
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